
 

Exercise We compute the cross section ofa
hand sphere target for

both a point particle projectile anda hand sphere projectile

Source Taylor Mechanics Chapter 14

We consider a point particle projectile
indicent on a hand spheretarget

ofradius R with impact parameterb

b E ir

Thepoint particlewill collidewith
the sphere so longas b IR

so tothe pointparticle
the sphere looks likea circleof

radius R andthe

scattering cross
section ofthe targetis givenby

lotRI



Next We consider the case where theprojectileis also ahandsphere

of radius R

j 1

Now since the impactparameter is
measured fromthe center oftheprojectile

there will clearly be a collision solong as b s R tr Thusto


